
Periodic Table Review 

1. How is the periodic table arranged?   By atomic number 

2. What are the columns called?   Groups/Families What are the rows called?  Periods 

3. Elements in the same group   or  family have similar properties. 

4. Elements in the same group   have the same number of valence electrons. 

5. Most elements on the periodic table are solids (you could have also said metals) 

6. What are the properties of metals?  lustrous (shiny), malleable (sheets), ductile (wires), good 

conductors 

7. What are the properties of nonmetals? not lustrous, not malleable, not ductile, insulators (do not 

conduct) 

8. What are the properties of metalloids?  shiny but brittle, semi-conductors (poor conductors) 

9. Which two elements are the only liquids at room temperature? Mercury & Bromine Which of these is a 

metal?  Mercury  Nonmetal? Bromine 

10. Why are Nobel Gases non-reactive (don’t want to bond with other elements)? the outer energy level is 

full 

11. Why are Alkali Metals the most reactive metals? they only have 1 valence electron, so it is easy to “give 

away” 

12.  Why are the transition metals called the “typical metals” or “common metals” group? this is the family 

with the most recognizable (common) metals (gold, silver, lead, etc.) 

13. Why is hydrogen in the wrong spot on the periodic table? it is in group 1 with metals and it is a non-

metal Why is it in the right spot? it only has one valence electron 

14. Label the location of the following families on the periodic table. 

a. Halogens 

b. Alkali Metals 

c. Alkaline Earth Metals 

d. Noble Gases 

e. Transition Metals 

15. List how many valence electrons each of the atoms in these families have. 

16. Label the family whose elements are all radioactive. 

 

 

 

 

 

 

 

 

 

  



17. Draw an element box for the elements of the following.  Then calculate how many protons, neutrons, 

and electrons are in each of their atoms. 

a. Element in row 4 column 3     

a. p+ = 21 

b. e- = 21 

c. n0=24 

 

 

 

 

b.  element with atomic # 36  

a. p+ = 36 

b. e- = 36 

c. n0= 48 

 

 

 

c. element with symbol  Cr 

p+ = 24 

e- = 24 

n0=28 

 

d.    Element in row 4 column 17       

p+ = 35 

e- = 35 

n0=45 

 

 

e.   element with atomic #16  

p+ = 16 

e- = 16 

n0=16 

 

 

f.      element with symbol K 

p+ = 19 

e- = 19 

n0= 20 
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Cr 
Chromium 

51.96 

21 

Sc 
Scandium 

44.96 

36 

Kr 
Krypton 

83.80 

35 

Br 
Bromine 

79.90 

16 

S 
Sulfur 

32.07 

19 

K 
Potassium 

39.10 


